ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X > -1 2) 'Which option best shows X < 7
-4 -3-2-10 1 2 4 5 6 7 8 9 1
A ¢—t—t—0—"1F—"1—" A. +—t—t—0O—1—
4321012 4 5 6 7 8 9 2.
B. <¢+—t—"ab—@+—1— B. <¢+—t—""b—@—1—
-4 -3-2-10 1 2 4 5 6 7 8 9 3
C. ¢+——F+—+—-O0—t+—t— C. ¢+——F—"F—"0—+— R
-4 -3-2-10 1 2 4 5 6 7 8 9
D. ¢+—+—1—@—t——t—r=i> D. +—F—F——— 4.
5.
3) Which option best shows X > 14 4) Which option best shows X >9
12 13 14 15 16 6 7 8 9 10 11 12 6.
A. ¢+——t——O—F— A —t—+—0—"1F—"1—"
12 13 14 15 16 6 7 8 9 10 11 12 7.
B. ¢+—t—@—F— B. ¢+—t—""—@+—F—
12 13 14 15 16 6 7 8 9 10 11 12
C. —+—O——t—i> C. ¢—F+H—+—O0—+—— 8.
12 13 14 15 16 6 7 8 9 10 11 12
D. 4+——@—t—t> D. ¢+—1+—"1—@—t—t—otp
5) Which option best shows X < -14 6) Which option best shows X > 1
-16 -15 -14 -13 -12 -11 -2 -1 01 2 3 4
A +—t+—0—F—"F— A. ¢——t—t—O—F—1—
-16 -15 -14 -13 -12 -11 -2 -1 01 2 3 4
B. 4+——@—F+—1+—" B. <+—t—ati—@—1—1—1
-16 -15 -14 -13 -12 -11 -2 -1 01 2 3 4
C. +—F—O0—t—+— C.
-16 -15 -14 -13 -12 -11 -2 -1 01 2 3 4
D. 4+——@—+—t+—> D. ¢+—1+—"1—@—t—t—t>
7) Which option best shows X < 16 8) Which option best shows X < 11
14 15 16 17 18 9 10 11 12 13 14
A ¢——t—00—F— A ¢——t—0O—F—"—»
14 15 16 17 18 9 10 11 12 13 14
B. - —— > B. <¢+—t—=@ ——~F—
14 15 16 17 18 9 10 11 12 13 14
C. ¢+—F—O——t—i> C. ¢+——F—"O0—t——>
14 15 16 17 18 9 10 11 12 13 14
D. « H—@—t B> D. 4+—F—@—+—+—>
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ﬂh Matching Inequalities to Numberlines Name:. Answer Key

Solve each problem. Answers
1) Which option best shows X > -1 2) 'Which option best shows X < 7
-4 -3 -2-10 1 2 4 5 6 7 8 9 1-L
A. ¢t O———> A. ¢——t——t—O——>
-4 -3 -2-10 1 2 4 5 6 7 8 9 2. B
B. <+——t—i—@———F— B. ++—t——t—@——»
-4 -3 -2-10 1 2 4 5 6 7 8 9
C. ¢+—F—+—-O0—+—— C. +——F+H—F—0O0—+— 3-L
-4 -3 -2-10 1 2 4 5 6 7 8 9
D. ¢ @——+—h D. ¢—F——@—t—h> . C
5. A
3) Which option best shows X > 14 4) Which option best shows X >9
12 13 14 15 16 6 7 8 9 10 11 12 6. D
A. ¢t ———> A. ¢—t—tp—O——F—>
12 13 14 15 16 6 7 8 9 10 11 12 - B
B. <+——t—@———1» B. <+—t——i—@ ———1—
12 13 14 15 16 6 7 8 9 10 11 12 B
C. +—+—O0—F—h C. +—+—+—O—+—+—h 8.
12 13 14 15 16 6 7 8 9 10 11 12
D. 4+—F—@—+— D. +—F+—F—@—+—+—>
5) Which option best shows X < -14 6) Which option best shows X > 1
-16 -15 -14 -13 -12 -11 2 -1 01 2 3 4
A ¢4+—+—0O0—F+—"F— A. ¢——t—tp—OQ—}——»
-16 -15 -14 -13 -12 -11 2 -1 01 2 3 4
B. 4+—t—@—F——F— B. <+—t—vi—=@——~F—»
-16 -15 -14 -13 -12 -11 2 -1 01 2 3 4
C. ¢+—"F+—0——t—t—ip C.
-16 -15 -14 -13 -12 -11 2 -1 01 2 3 4
D. ¢+—1—@—t——t—ip D. 4+—F+—1—@—t—t—t>
7) Which option best shows X < 16 8) Which option best shows X < 11
14 15 16 17 18 9 10 11 12 13 14
A. ¢—t———> A. ¢—t—-=O———F—"
14 15 16 17 18 9 10 11 12 13 14
B. - ! o — > B. <++—t—@—1—~—»
14 15 16 17 18 9 10 11 12 13 14
C. 4+—F—O=—tip C. 4+—+—O——t——edf—ip
14 15 16 17 18 9 10 11 12 13 14
D. « | @ ! > D. ¢+—1—@—t——dtf—ip
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